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e : Gt U9 g hifeg |
Note : Attempt all questions.

fdor : (1) U HE 1 H 9 Tve §—ave (1) ¥ agfamedid T T |
Tug (&) H fod T a5t gfd ol 991 € wd wue (W) o
/31T AT F9H & | I W9 W 1 3 aeifed ¥ |

Instruction :(A) Question No. 1 has three parts. Part (A) has Multiple choice
questions, Part (B) has Fill in the blanks and Part (C) has
True/False. Each question carries 1 mark.

Yga-1  (@ue-37) Hel fashey gt fafE : [1x5=5]

(Part-A) Choose and write the correct option :

(/) T TANHHR 61 01T
(&) TSHifash St
(7) T T H i
(¥) STeqEEh! o fedl &l W&l

(%) Sd% a+ft

The characteristic of adult franchise is :
(a) political awareness

(b) increase of national unity

(c¢) defence the benefits of minorities
(d) All of the above
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(if) | 1993 H forwrent TS foham 7am o ?
(37) TS AAATHHR SR
(&) g Hfge A
(%) Taser = emEm
(%) rgyfa Sifd Tel STTEf= ST S

Which commission was formed in 1993?

(a) National Human Rights Commission

(b) National Women Commission

(c) Backward Classes Commission

(d) Scheduled Caste and Scheduled Tribe Commission

(iii) &R I g § wRa o1 fava H -9 TH € 2
(37) UEe T () T IH
(g) GEu (3) graal T

India stands on which place in the world from the point of
view of area?

(a) First place (b) Second place
(c¢) Third place (d) Seventh place
(iv) TE-TRUeT T o IR e BT §
(87) TH I AR (&) Qe
(@) o = o= (7) =R =¥ =g
Shikhar Conference of Non-alignment country occurs after :
(a) one year (b) two year
(c) three year (d) four year
(v) ‘ThEehT TSl YRA- SRyl o He ga
(3) 13[4, 1975 (d) 30 Ag%R, 1975
(®) 30 FeweR, 1977 () 178, 1977

‘Farakka agreement’ between India-Bangladesh was settled on :
(a) 1 June, 1975 (b) 30 November, 1975
(¢) 30 November, 1977 (d) 1May, 1977
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(@us-a ) fa Tl 1 gfd S : [1x5=5]

(Part-B) Fill in the blanks :

() TeEfrafeasmga@ sl Uik % gN ue=d fohd S i oemen |
Process of removing Chief Election Commissioner is

(i) SIS AFEeR feoq I AR S
International Human Rights day is celebrated on

(i) MAJgw T E]  Hgs o)

Cold War was ended in .

(iv) SgR g Ea R gEeE  Hfem g
The headquarters of ‘UNQO’ is situated in .

(v) TR HEIHCYeh ®I Hhdd RIS |
The terms for Director-General of UNESCO is .

(@us-|/) "/34 fafay : [1x5=5]

(Part-C) Write True/False :

(i) TEHE YR ST 61 geaed g H feod 7 |
The headquarters of National Human Rights Commission is
situated in Raipur.

(if) WA e-TRUE ST<Ie & 99 T |
India is the supporter of Non-aligned Movement.

(iii) ¥R ! fagw Hifd R Iranc fo=m- o 1 qaifies g9 921 © |
The foreign policy of India is very much influenced by
communist thoughts.

(iv) e g # Tl wew <9 i §ern 10
The permanent member countries in security council is 10.

(v) HIH T2 TE H F G W H TS 193 7 |

Total number of member countries in UNO is 193.
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ot : (F) T HHF 2 W 9 T AT T ¥ | T0E T W
2 37 efEfed € 1 (STt Sfehad wsg-Himr 30 912 §)

Instruction : (B) Question Nos. 2 to 9 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

Yga-2 Wi auser Aaiyer oy hed © ?
What is Universal Adult Franchise?

Uo-3 T A YR A % S e fafaw

Write two works of National Human Rights Commission.

Uya-4  Sfau o T s1g=edl | STIyfEa S TE ST{gfea Ssitd i 3ecid
g2
Which articles of Constitution show Scheduled Caste and
Scheduled Tribe?

U9A-5  SHEE faehe 1 31 Ty Shifsu |

Explain the meaning of population explosion.

Y9a-6  URd ol anifuaes Sifq s g ?

What is Indian Nuclear Policy?
-7 forw Aifg @ s R 2

What is meant by ‘Foreign Policy’?
Y9-8 FA%h! o1 qU A fafEw |

Write full name of UNESCO.

U9A-9 ol die faare ford el F A= R 2

Between which countries Kachcha Timboo dispute is there?

2]

2]

[1+1=2]

2]

2]

2]

2]

2]
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: (F) U HHAG 10 ¥ 15 T T[T T § | TH T W
3 3ieh afifed €1 (ST i Afshad Tee-Hi| 50 I8 ®)

Instruction : (C) Question Nos. 10 to 15 are short answer type questions.

Y91-10

TeT-11

TIT-12

YI1-13

WIT-14

WIT-15

ot

Each question carries 3 marks. (Maximum word limit of
answer is 50 words)

it AaTfeehR o faget # 919 @@k ST | [3]
Give three arguments against the Women Franchise.

UG HHATHUHR 3TN o T b far@y | [1+1+1=3]
Write three functions of Chhattisgarh Human Rights Commission.

Te-FRue TS & g i SuafsEl fafeT | 3]
Write any three achievements of Non-aligned Movement.

T (W) T HE W14 32 fafan | [1+1+1=3]
Write any three aims of SAARC.

IRA o TSI <¥0 o 19 saey (FiE 87) | [V2x6=3]
Write the neighbour countries of India (any six).

‘ST’ BT i TR saET | [1+1+1=3]

Write three characteristics of ‘Liberalization’.

: (T) T HHE 16 9 21 T TEAT T ¢ | T T i
foehed € | T8 U39 W 4 ik 3Teifed €1 (ST ol Afehay
-4 75 IS ®)

Instruction : (D) Question Nos. 16 to 21 are short answer type questions.

Each question has internal option. Each question carries
4 marks. (Maximum word limit of answer is 75 words)

UPA-16 &9 STE{e o IR HRY fafEaa | [1+1+1+1=4]
Write four reasons of regional imbalance.
37I4GT/OR
TR Tk IR TS o1 1 J919 ISl § 2 T ity (1 =) |
What is the effect of poverty on Indian Democracy? Explain it (any four).
M-36A P.T.O.
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YI1-18

Y91-19

YI1-20

YI1-21

[6]
HFETfRR ST o fehg] =N el s ferfa | [4]
Write any four aims of Human Rights Commission.

37947/ OR
TSI Higell SR o R Sl 1 90U il |

Explain four functions of National Woman Commission.

“ rrtaTe AHedt ot fadiEh § 17 39 HYF T TR ifeT | [4]

“Fascism is against humanity”. Explain this statement.

37941/ OR

“ o} AT e Rl STHIH § 1 T Ty |

“Religion is the opium of the people”. Explain it.

9. IR0 it SR o TR HIRO ohi Tae=qT Sifed | [1+1+1+1=4]

Explain four reasons of failure of Disarmament

3741/ OR
WA <l ferewn Hifd = #hiE =R fagr fafaw

Explain any four principles of Foreign Policy of India.

FTATGST Sht TGN H 9RA 1 T AR o7 ? [4]

What was the contribution of India in the Independence of Bangladesh?

37I4qr/OR
Tefta-Siaef Tmeiar & =R fog w foum dfs

Explain four points of Rajiv-Jaivardhan Pact.

fava o & IR FET T T Sfery | [1+1+1+1=4]
Describe four works of ‘World Bank’.

37941/ OR

ISR & IR ThRIcHS JuTe fafem |

Write four negative effects of Liberalization.

M-36A
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fdor ;0 (3) Y HHH 22 F 24 T ST T B IS IH H
3afier foaehed & | T 99 W 5 ek aTefed | (ST &
ST - 750 T §)

Instruction : (E) Question Nos. 22 to 24 are long answer type questions.
Each question has internal option. Each question carries

5 marks. (Maximum word limit of answer is /50 words)

U9T-22 U G faten yomelt % uet § U aeh e [1+1+1+1+1=5]

Give five arguments in favour of a members electoral system.

34T/ OR

R Fratem gfran & foreel 1= QramT o6 s |
Write any five steps of Indian Election Process.

Y99-23  9RA 3R U & HeT HAvel & e R fafen | [5]
Analyse the five reasons of dispute between India and Nepal.

34T/ OR

URA-&9 Hedl i fao=mT sifsy |
Interpret the relationships between India and Russia.
UT-24  HESAEIE % Y& H UTE e ST | [1+1+1+1+1=5]

Give five arguments in favour of Humanism.

3741/ OR

IS hi his Ui faeIoard fafeu |

Write any five characteristics of Fascism.
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fcsr : (B) YT HH% 25 Td 26 SHSTUT G99 © | I U H Adieh
foehed ® | Toieh U39 W 6 3k 3Teifed § 1 (ST i S1faeraq
Wee-HHT 200 T2 ©)

Instruction : (F) Question Nos. 25 and 26 are long answer type questions.
Each question has internal option. Each question carries

6 marks. (Maximum word limit of answer is 200 words)

Y9A-25 GgF TP T Dl AT o T3 Td 39 HA! ol faAf@y | [2+4=6]
Write down the organization and functions of General Assembly of UNO.
37I4T/OR
IAEh! T 35 FAd U 3k Y faray |

Write the aims of UNESCO and its functions.

Y9A-26  WTURIHehAl h RO i faR ¥ 99=m8T (1 87) | [1+1+1+1+1+1=6]

Describe in detail the evils of communalism (any six).

3741/ OR

TaICTaTS] TGl o ShIOT ol GHERY (FE B7) |

Explain reasons of Naxalism Movement (any six).

oooooooooo
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